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Please check that this question paper contains 12 printed pages and
2 pages of maps.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(1)
(it)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 8 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A
1. 7Y SCEAT I SHEEA T o Tsh HegqUl gaeh & &9 H fhd TR M1
TAT B 2 Ueh R TIse HIfNTT | 1

How is the age structure known as an important indicator of population
composition ? Explain one reason.

2. I W 84 g aftfa g faem % g 3ev i @ Hifu | 1

Examine the main objective of human development as described by
Prof. Amartya Sen.

3. ‘qEER weg H gRAT ARET | 1
AYUAT
‘Bt AR 31eg hT g fefiau | 1
Define the term ‘telecommunication’.
OR

Define the term ‘retail trading’.
4.  ER # grfivr SfeqEi o foe T o & ®9 ° S AYfd % A 6l e
SHIRTT | 1

Examine the significance of ‘water supply’ as a locational factor for rural
settlements in the world.

5.  °h(cl o1 A4 o™ gohieh (A1.19.9,) # Fat=r €M &1 7 ? ¥ T | 1
Explain why Kerala has recorded the highest value in the Human
Development Index (H.D.I.).

6. fcash IR Autlcas @ieit 6 foret Top-ush fomiwar =1 3g@ hifs |

4t
HAAAT
g 3R 27eiE Wi it foreft ueh-ues fomivar o1 3g@ hife | 1.1
State any one characteristic each of metallic and non-metallic minerals.2 ?
OR
State any one characteristic each of ferrous and non-ferrous minerals.
7. UG H g WG % TRl g1 Y@ Gl Hl 3g@ hHiT | L
Froat z 2
R § 9 TGN % foheal & @ Gl 1 3g@ Hi | é+§=
Mention any two major sources of ‘air pollution’ in India.
OR

Mention any two major sources of ‘land pollution’ in India.
 64/5/1) 3 P.T.O.
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SECTION B

8. ‘“ugf 7 o fara stewEeRdr i feufa (wafawfa fveem) & o 7 & fFaa

T (T9adTE) i a3 2 |7 30 TILURON T ISTEL01 Afgd faveivor il | 3
Froqa

“onfer wm o foru wifae w@feor ‘wRfa AT 7 17 39 %M w1 fawcm

I | 3

“There is neither a situation of absolute necessity (environmental
determinism) nor is there a condition of absolute freedom (possibilism).”
Analyse this concept with example.

OR
“The physical environment for primitive societies becomes ‘Mother
Nature’.” Analyse the statement.

9. = fu T aw w1 gEgHigds A R o 38k e fu T el
I TAfE 1+1+1=3
Terva =TTl |Ter e, 2005 - 2015
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(9.1) e ¥ § Pt TR AT | Fatfae fata foemn = g 2
(9.2) foru ad ¥ fafafia @ =1 farfa weg 69 o1 2
(9.3) 2011 § 2014 T F¥ TGl I ol AT T=: FHH FAT &I ?

Study the graph given below carefully and answer the questions that
follow :

World merchandise exports, 2005 - 2015
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(9.1) Which year has shown the highest export of total merdandise ?
(9.2) In which year was the export of manufactured goods lowest ?

(9.3) Why has the total export of agricultural products remained
almost the same from 2011 to 2014 ?

Fie :  FHEICTRIT F97 FIT FIBFTIAT GO & 1079, 97 G&IT9 & € R 3 -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 9 :

FASE AR & fehegl 9 3Mari Y =@ $ifs | 1x3=3

Explain any three bases of international trade.

64/5/1, 5 PTO.



10.

11.

12.

13.

64571,

AT & “HT9TS Hoed <hl samedn shifsru | 3
Explain the ‘linguistic composition’ of India. ’
URA | T o TTHIOT &5 | T &5 ° JaTd o IHondi 6l 7@ Hife | 3

Examine the outcomes of migration of people from rural areas to urban
areas in India.

A § T Sfeqat i fohegl @4 fomwaredt 1 auH Hifv | 1x3=3
HAYAT
IRd § TIfesd i afen 6t ol i fomivarsti o1 avia hifd | 1x3=3
Describe any three features of urban settlements in India.
OR

Describe any three features of clustered rural settlements in India.

fa feu v w1 TS steEE e 3T 3Eeh 9 for e vt %
I e 1+1+1=3

(13.1) 39 tomml &1 9m fafay, 9 = T8 o9 99 fog 2

(13.2) 39 SEUIG TIF i TIE-3TIh hi (A A ATl TA18-3Th hi GHI
1 3W HIT |

39 3T GIF I Wk AR A dTel q19 WA e 1 AW faRau |

6



Study the following diagram carefully and answer the questions that
follow :

Bhilai Steel Plant

Bilaspur

Balaghat

Mahanadi River

FW. s - r—
Y Steel Plant
E 4 Dolomite

| ok DManganese

Dalli Rajhara Hills
s y, Iron-Ore
'{/ T Coal
Tank Iron

s Railway Line

- I

(13.1) Name the railway route on which this steel plant is located.

(13.2) Mention the iron-ore mines which supply iron-ore to this steel

plant.

(13.3) Name the thermal power station supplying power to this steel
plant.

Fie :  Hiciiad ge FacT gieaTaa ghgniaal & 079, 397 &I 13 #F €I W8

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13 :

‘TR 359Td G <kl fopeal i feriansti st Tose <hifau | 1x3=3
Explain any three features of ‘Bokaro Steel plant’.




WU
SECTION C

14, G H GAHE ghg AR FOMHS Jhg H IR TR Hive | fawm T
Tenfiehl 3 fohe TR TER # SHEe@ gig § Fgrar il & 2 90 HINT | 2+3=5

Differentiate between ‘positive growth’ and ‘negative growth’ of

population. How did science and technology help in the growth of

population in the world ? Explain.

15. “HOR # yuemrRE $N oAfd faitne afifsus S 2 17 39 % di gfee
SIS | 5

AT

“Far 1 S PV Falfus 39d, & 3R IS Ted JRR I FN 7 |7 38w H
gfse i | 5

“Mediterranean agriculture is highly specialised commercial agriculture
in the world.” Support the statement.

OR

“Dairy farming is the most advanced, efficient and capital intensive type

of farming in the world.” Support the statement.

16. HOR # 3@ <kl Rufa o uwifed 0 9@ fedl ufg @renl Il W@
i | Ix5=5

A
OR H ‘T IUM bl el gig fomiwanstt <h wg Hifv | Ix5=5

Examine any five factors that influence the location of industries in the
world.

OR

Examine any five characteristics of ‘Footloose Industries’ in the world.
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17.

18.

19.

20.

21.

=

T REE T8 o HEw o foheal uid fergati o1 qui iy | Ix5=5

Describe any five points of significance of the Panama Shipping Canal.

“Ura ° iR qfir w1 Feiem T TR ren § 17 Serw afka e
SHifTT | Ix5=5
“Degradation of cultivable land is a serious problem in India.” Explain
with examples.

ST JEE ° F 1 MU B ? WRA H oW T fhE TR S
STTETTRATST ol T L Hehd & ? IGTE0N Algd T FHifT | 1+4=5

What is watershed management ? How can watershed management fulfil
the needs of water in India ? Explain with examples.

s 37 AR THT hl a1 Skl Fedfd, Ioe Tewr iR fova =R § 33k

HE @ HgH # I | 1+1+3=5
STraT

AR 3R fosmETIeH Jqgt ol i gor ekl feufd, Ise wewm o fawa

IR § 3k Hgd o e | U | 1+1+3=5

Compare Mumbai and Kolkata sea ports on the basis of location,
hinterland and their significance in world trade.

OR

Compare Marmagao and Vishakapatnam sea ports on the basis of
location, hinterland and their significance in world trade.

TR o U 7T TsHIfdeh @AW (I8 13 W), § 9i< JRNicish Aol i A,
B, C, D 3R E ¥ fe@rn mn 8 | 39! uga efvfigd SHeerl &t ogmar @

HifoTe 3 396 T AW 37k UTE Eie T8 @ren w fkay - I1x5=5
A OFW w e
R AR
C. 3IaUsT ga1s U
D. i@ wem
E. UR-GTEsRH WHm o & o1 $eIH

64/5/1, 9 PTO.



On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct
names on the lines drawn near them :

An area of ‘Dairy farming’

A major seaport

An international airport

An industrial region

The terminal station of Trans-Siberian Railway

e : W@HWWWWWW%%U o7 G 21 & €A WE -

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Q. No. 21 :

(21.1) HER 4 0 Hf & el v vq@ &= 1 am fofew |

(21.2) A4 % forelt wh Y@ wgg ueH 1 AW fafEw |

(21.3) Toeft & TaUSdT gaTs 9o &1 9 faRau |

(21.4) <o e d§ Gl 1 e HI-AT R ?

(21.5) UR-GTEEREA ot & ufyadt i & wevm w1 9m fafege | Ix5=5

(21.1) Name any one major area of dairy farming in the world.

HOOW >

(21.2) Name any one major sea port of Norway.
(21.3) Name an international airport in Chile.
(21.4) Which is the largest country in South America ?

(21.5) Name the western terminal station of Trans-Siberian Railway.

22. WRA % [T T TSI W@-AFRE (I8 15 W), § Afaled ® 9 fg? o
iifcteh TAeTuN ! ITIH ol | gRIigy 3R 3 19 fIRan Ix5=5
(22.1) w4 fom gae (W.f9.9,) 4 999 = @@ e =
(22.2) TG H HEqUl AT G &

(22.3) Sfifssm H 309Td €I

(22.4) T T ITHUEA 1 GEATAT

(22.5) USE T TSI gaTs IoH

(22.6) TERTSE T 10 Taferam & i SmEen arer w&t
(22.7) A T THE TG g9

(22.8) HeERI hl W[ IcqTCeh T




Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) with appropriate
symbols :

(22.1) The State with lowest level of Human Development Index (H.D.I.)
(22.2) An important coal mining area in Tamil Nadu

(22.3) A steel plant in Odisha

(22.4) The Headquarter of North Central Railway Zone

(22.5) An international airport in Punjab

(22.6) The city with more than 10 million population in Maharashtra
(22.7) A major sea port in Kerala

(22.8) The leading producer State of maize

Fie:  FHECTRET 397 o GIREanad ghgniaan & o, Jv7 G&7 22 & LI T/
& | BIF arer 397 57 38 |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 9RA % T8 TT § AFS oo™ guehie (A1.f0.9,) 998 7 &R &
7

(22.2) dfferTg # fordmse @A & 1 AW fafaw |

(22.3) wdtesh T feoa forelt weh sTuma @9w w1 AW fefEu |

(22.4) T oA ITHISH I JEITAT HIH-AT 7 ?

(22.5) USE T feq ST a8 U= ot AW fafay |

(22.6) TENTSE % fop wEX T 10 Taferam & s1feres smEen 2 2

(22.7) HA H THE GG I HH-AT 8§ ?

(22.8) WA W WeRl < MU IcdTgeh U 1 AW faIRaw | Ix5=5

64/5/1, 11 P.T.O.



(22.1)

(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)

(22.8)

Which State of India has the lowest level of Human Development
Index (H.D.I.) ?

Name the lignite mining area in Tamil Nadu.

Name any one steel plant located in Karnataka.

Which is the Headquarter of North Central Railway Zone ?
Name the international airport located in Punjab.

Which city of Maharashtra has more than 10 million population ?
Which is the major sea port in Kerala ?

Name the leading producer State of maize in India.
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A T T@T-AE A (TSTHITR)
Outline Map of India (Political)
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